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Introduction
It is proposed that the occupied bandwidth requirement for NR-U is not needed since it is already guaranteed to be met by ACLR.
Discussion
The occupied bandwidth for NR is defined as the bandwidth containing 99% of the total integrated mean power of the transmitted spectrum on the assigned channel.  For NR, the occupied bandwidth is specified to be the same as the channel bandwidth; that is, for a 20 MHz channel, 99% of its power must fall within 20 MHz of bandwidth.  This is equivalent to 20 dB power ratio between in-band and out-of-band.  If the PSD is assumed to be symmetric so that half of the out-of-band power is located below the channel and half of the power above the channel, the ratio of in-band power to one-sided out-of-band power is 23 dB.
On the other hand, ACLR is defined as the ratio of the filtered mean power centered on the assigned channel frequency to the filtered mean power centered on an adjacent channel frequency.  For NR the filter is a rectangular filter with bandwidth according to the spectrum utilization of the channel, approximately 95 to 98% of the channel bandwidth.  To simplify the definition, for NR-U it is proposed to define ACLR with a measurement bandwidth 100% of the channel [1].  The ACLR for NR-U has been agreed to be 27 dB. 
It is evident that the ACLR and occupied bandwidth requirements meaure very nearly the same metric, but the ACLR is much tighter than NR-U meaning that a UE that complies with ACLR will inherently meet the OBW requirement with margin.  Even accounting for the fact that ACLR measured out-of-band only in one channel away from the wanted signal, since the spectrum emission and spurious emission requirements impose limits on out-of-band emissions further away from the channel, the OBW requirement is superfluous.
Conclusion
It is suggested in this contribution that occupied bandwidth is not needed for NR-U since the requirement is inherently fulfilled by the more stringent ACLR requirement.
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